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εk = µ4/σ4 − 3
)

-./.0. 12 343 5 67689:;< = :68
X = 4, a, 9, 13, 17
n = 12, 36, 41, 35, 11
D(X) = 13.7877

-./.0. 12 3> 3 5 ?@ ?89: AB ?C68
X = 4, 7, a, 13, 16
n = 3, 33, 42, 38, 11
D(X) = 8.7539

-./.0. 12 31 3 D 98; E@6F@ ?8
X = 5, a, 10, 13, 17
n = 8, 37, 44, 34, 6
D(X) = 10.6744

-./.0. 12 32 3 G6H 6IJ;8 E 6@ ?K ;L
X = 4, 7, 10, 12, a
n = 3, 34, 44, 38, 10
D(X) = 6.3234

-./.0. 12 3M 3 N 9O9P9K 9: Q@ ?JO?L
X = a, 7, 9, 12, 16
n = 8, 37, 47, 33, 5
D(X) = 6.8225

-./.0. 12 3R 3 S 6@TI ?: =@UV
X = a, 7, 10, 14, 16
n = 6, 36, 48, 36, 12
D(X) = 10.9452

-./.0. 12 3W3 S 9K F;8 Q8B98
X = a, 8, 9, 14, 15
n = 3, 34, 40, 34, 3
D(X) = 7.8730

-./.0. 12 3X 3 Y 9O?8J9 Q@ ?JO?L
X = 4, 7, 10, a, 16
n = 11, 38, 41, 40, 6
D(X) = 11.7067

-./.0. 12 3Z 3 [ 679H 9:6 A:?B@686
X = 4, 7, 10, 13, a
n = 8, 41, 42, 39, 7
D(X) = 9.8600

-./.0. 12 34\ 3 ] ?L7689: ^_F:;P
X = a, 7, 9, 13, 16
n = 4, 40, 48, 33, 10
D(X) = 9.2656

-./.0. 12 3443 ABK `<J9: aK ;L
X = 4, 7, 10, a, 16
n = 9, 39, 47, 38, 12
D(X) = 9.9824

-./.0. 12 34> 3 b;H 9c??:6 b6BUV86
X = 5, 7, 11, 13, a
n = 8, 34, 52, 37, 8
D(X) = 8.9233



-./.0. 12 341 3 d<6?: ]9H 68
X = 3, 8, a, 13, 16
n = 3, 35, 52, 35, 5
D(X) = 5.8701

-./.0. 12 342 3 e ?OB6J9: E ;JB9K
X = 5, a, 10, 13, 17
n = 10, 33, 42, 33, 7
D(X) = 11.2700

-./.0. 12 34M 3 [ 679H 9: E f
X = 3, 7, 10, a, 15
n = 1, 35, 43, 36, 9
D(X) = 5.9097

-./.0. 12 34R 3 D 6P;V89: g
X = a, 8, 10, 13, 16
n = 10, 39, 49, 37, 6
D(X) = 7.5491

-./.0. 12 34W3 hK i`89:
X = 3, 7, a, 13, 17
n = 8, 36, 42, 36, 13
D(X) = 12.7306

-./.0. 12 34X 3 j kl mlkn
X = 3, 6, 11, a, 15
n = 6, 36, 46, 31, 8
D(X) = 9.6743

-./.0. 12 34Z 3 QKH 68F` of
X = 5, 6, 10, a, 16
n = 10, 35, 46, 35, 6
D(X) = 10.0213

-./.0. 12 3>\ 3 A`8U piVO_68U
X = 4, 7, a, 14, 16
n = 12, 36, 44, 39, 4
D(X) = 11.2889


